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You may try the questions in any order. 

 

No calculating aids may be used. 

 

Show all working. 

 



1. a)  Work out exactly 

 

 i) 73.54.60  (3 marks) 

 

 ii) 9.76.2085 ÷  (3 marks) 

 

 b)  Give the answers to the following as fractions in their simplest form 

 

 i) 
5

1

15

2
+   (3 marks) 

 

 ii) 
8

1
3

5

3
5  (3 marks) 

 

 iii) 
8

1
2

4

3
2

7

4
4 ÷  (4 marks) 

 

 

 

2. Work out as simply as possible 

 

 a) 22
259741  (4 marks) 

 

 b) )7367(67)6794( 2
+  (4 marks) 

 

 c) )3627()7345()2763()2873( ++  (4 marks) 

 

 d) 
43.848

)843747(8432

 (5 marks)  

 

 

 

3. a)  Multiply out and simplify 

 

 i) ( )23yx +  (3 marks) 

 

 ii) )1263)(2( 22
yxyxyx ++  (3 marks) 

 

 b)  Factorise fully 

 

 i) 322
96 abba  (3 marks) 

  

 ii) 22
6328 ba  (3 marks) 

 

 iii) 3011
2

++ xx  (3 marks) 



c)  Simplify 

 

 i) 
bcac

ba
22

 (3 marks) 

 

 ii) 
5

2

2

4

y

x

y

x
÷  (3 marks) 

 

 

4.   Solve each of these equations for x 

 

 a) 79)3(2)4(7 =+ xx  (3 marks) 

 

 b) 8
3

7

5

12
=

+
+

xx
 (4 marks) 

 

 c) 684)3)(14( 2
=++ xxx  (5 marks) 

 

 Rearrange the following formula to make x the subject 

 

 d) 
dx

c

bx

a
=  (4 marks) 

 

 

5. Solve each of these pairs of equations for x and y 

 

 a) 
2123

2552

=+

=+

yx

yx
 (6 marks) 

 

 b) 

4
5

3

3

2

10
2

1

6

5

=

=

yx

yx

 (6 marks) 

 

 

6. Solve each of these equations for x 

 

 a) 02012
2

=+xx  (4 marks) 

 

 b) 0376
2

=+ xx  (6 marks) 

 

 c) 7
2

28

7

36
=

+
+

+ xx
 (8 marks) 

 

 

 Total 100 marks 


